
6123 6123.5 6124 6124.5 6125
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

6387

6387.5

6388

6388.5

6389

6389.5

6390

6390.5

6391

ru
n

run:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6389}



6123 6123.5 6124 6124.5 6125
cyclenum

84.5−

84−

83.5−

83−

82.5−

us
l_

1X
usl_1X:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

0

0.5

1

1.5

2

us
l_

4a
Y

usl_4aY:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

57.6

57.8

58

58.2

58.4

58.6

58.8

59

59.2

59.4

59.6

59.8

us
l_

4e
X

usl_4eX:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

15

15.5

16

16.5

17

us
l_

4e
Y

usl_4eY:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

33−

32.5−

32−

31.5−

31−

us
l_

12
X

usl_12X:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

6387

6387.5

6388

6388.5

6389

6389.5

6390

6390.5

6391

ru
n

run:cyclenum {run == 6389}



6123 6123.5 6124 6124.5 6125
cyclenum

108.5−

108−

107.5−

107−

106.5−

us
r_

1X

usr_1X:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

1.8

2

2.2

us
r_

4a
Y

usr_4aY:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

152

152.5

153

153.5

154

us
r_

4e
X

usr_4eX:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

13.2

13.4

13.6

13.8

14

14.2

14.4

14.6

14.8

15

15.2

15.4

us
r_

4e
Y

usr_4eY:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

35−

34.5−

34−

33.5−

33−

us
r_

12
X

usr_12X:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

6387

6387.5

6388

6388.5

6389

6389.5

6390

6390.5

6391

ru
n

run:cyclenum {run == 6389}



6123 6123.5 6124 6124.5 6125
cyclenum

16744

16744.5

16745

16745.5

16746

us
l_

co
il1

usl_coil1:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

3327.5

3328

3328.5

3329

3329.5

us
l_

co
il3

usl_coil3:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

3410

3410.5

3411

3411.5

3412

us
l_

co
il4

usl_coil4:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

856−

855.5−

855−

854.5−

854−us
l_

co
il6

usl_coil6:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

12950.2

12950.4

12950.6

12950.8

12951

12951.2

12951.4

12951.6

12951.8

12952

12952.2

12952.4

us
l_

co
il7

usl_coil7:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

6387

6387.5

6388

6388.5

6389

6389.5

6390

6390.5

6391

ru
n

run:cyclenum {run == 6389}



6123 6123.5 6124 6124.5 6125
cyclenum

16855−

16854.5−

16854−

16853.5−

16853−

us
r_

co
il1

usr_coil1:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

3158.5−

3158−

3157.5−

3157−

3156.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

3318.5

3319

3319.5

3320

3320.5

us
r_

co
il4

usr_coil4:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

661.5−

661−

660.5−

660−

659.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

15190

15190.5

15191

15191.5

15192

us
r_

co
il7

usr_coil7:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

6387

6387.5

6388

6388.5

6389

6389.5

6390

6390.5

6391

ru
n

run:cyclenum {run == 6389}



6123 6123.5 6124 6124.5 6125
cyclenum

445.5−

445−

444.5−

444−

443.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

70−

69.5−

69−

68.5−

68−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

21.5

22

22.5

23

23.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

476.4−

476.2−

476−

475.8−

475.6−

475.4−

475.2−

475−

474.8−

474.6−

474.4−

474.2−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

89−

88.5−

88−

87.5−

87−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

20

20.5

21

21.5

22

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6389}



6123 6123.5 6124 6124.5 6125
cyclenum

172

172.5

173

173.5

174

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

36

36.5

37

37.5

38

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

8.5−

8−

7.5−

7−

6.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

182

182.5

183

183.5

184

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

26.8−

26.6−

26.4−

26.2−

26−

25.8−

25.6−

25.4−

25.2−

25−

24.8−

24.6−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

7−

6.5−

6−

5.5−

5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6389}



6123 6123.5 6124 6124.5 6125
cyclenum

235.5−

235−

234.5−

234−

233.5−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

84.4−

84.2−

84−

83.8−

83.6−

83.4−

83.2−

83−

82.8−

82.6−

82.4−

82.2−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

1

1.5

2

2.5

3

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

5.6

5.8

6

6.2

6.4

6.6

6.8

7

7.2

7.4

7.6

7.8

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

427.5−

427−

426.5−

426−

425.5−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6389}

6123 6123.5 6124 6124.5 6125
cyclenum

6387

6387.5

6388

6388.5

6389

6389.5

6390

6390.5

6391

ru
n

run:cyclenum {run == 6389}
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